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1. WT 20 1^ ^ ̂  W

?

(A) 210

(B) 300-

(C) 400

(D) 420

\

2. 1 t 100 % ̂  ^ W3^\^ f, t

4 ̂  ̂ ^Fa-m f^^il^ci f, erf^

4TJ^3T^%^^ ̂  3TTcTTt ?

(A) 7

(B) 10

(C) 20

(D) 21

3. ■ ^ ̂ BWsff ̂  "^ftn 9 t ̂  c^c^hHl ̂

^ i t, ̂  ̂ #fft
2

(A) ITT^S

CB) 2^3:^7

(C) 6X3;# 3

(D) 4X3:^5

-f^ W I 1 ̂  ^ r 4800

^  eft '^^ ̂

?

(A) r 15,000

(B) ^ 16,000

(C) ^ 17,000

(D) ̂  18,000

TPT ^(H ̂  65% 3d"4 d)<di ̂  sfk yRi lira"

525 ̂  -^<<11 t 1 hiRi^

wt ?

(A) ?= 1200

%

(B) r 1500

(C) ^ 1800

(D) ̂ 2100 •

2RSP3/II/2023 (2-A)



1. What will be the sum of the first 20 odd

natural numbers ?

(A) 210

(B) 300

(C) 400

CD) 420

2. How many such numbers are there

between 1 and 100, each of which is not

only completely divisible by 4 but also

contains 4 as a digit ?

(A) 7

(B) 10

(C) 20

(D) 21

3. If the sum of two numbers is 9 and the

sum of their reciprocals is i, then those

numbers will be

(A) 1 and 8

■  (B) 2 and 7

(C) 6 and 3

(D) 4 and 5

The following pie-chart shows the

expenditure details of a family. If the total

expenditure on food is 4800, then how

much is the total expenditure on all the

items ?

Retail

10%

Clothes

5%

Transport

12%Saving

18%

(A) ^ 15,000

(B) T 16,000

(0) ^17,000

(D) r 18,000

Ram spends 65% of his salary and saves

T 525 per month. Then ■ what is his

monthly income ? -

(A) e 1200 •

(B), ̂  1500

(C) r 1800

(D) ̂  2100

2RSP3/II/2023 (3-A)



6. 4 $hHm m ^ 3^ 27 f- 1 ^

^R§^3Tf ̂  ̂ oj:^ F^5TT

(A) 32

i

(B) 36

(C) 30

CD) 28

7. A B ̂  ■^RfiTR 3TT3 5 : 4 ^ ai^qicT t I
^  3T13 ^ 4 : 3 ^ aijqm sn i A
^ ̂icfiTR 3715 "ferft ^ ?

(A) 8^

(B) 9^

(C) 10^

(D) 12 M

8. (HHfdRdd 3^1^ % .W :

36, 72, 49, 45. 60, 33, 52, 61 3:^ 72

(A) 52

(B) 60

(C) 49

(D) 61

2RSP3/II/2023

9. R^f^Raci ^ ̂3=T% mRhN! % 37^^ t[

1. 
7̂

2. i
4

3. i
6

4. 
9̂

■  (A) 1, 2, 3, 4

(B) 2,4,3,1

(C) 4,3,2,1

(D) 3.4,1,2

, - 4-359 X 4-359 - 1-641 x 1-641 . „10. ^TH t ?
4-359 -1-641

(A) 6-3

(B) 6-0

(C) 5-0

(D) 7-3
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6. The average of '4 consecutive even

numbers is 27. The largest of these

numbers will be .

(A) 32

(B) 36
(

(C) 30 .

(D) 28

7. The present ages of A and B are in the

ratio 5 ; 4. Two years ago the ratio of their

ages was 4 > 3. What is the present age of

.

(A) 8 years

(B) 9 years

(C) 10 years

(D) 12 years

8. Find the median from the following data :

36, 72, 49, 45, 60, 33, 52, 61.and 72

(A) 52

(B) 60

(C) 49

(D) 61'

9. Arrange the following in descending order

of their magnitude:

1. i
•  7

-  !

I

9

(A) 1,2,3,4

(B) 2,4,3,1

(C) 4, 3,2,1
r

(D) 3,4,-1,2

10. The value of

IS :

4-359 X 4-359 - 1-641 x 1-641

4-359 -1-641

(A) 6-3

(B) 6-0

(C) 5-0

(D) 7-3
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^fer^fr ̂  ̂  3Tf^

%^-

(A) ^ WFT^ ̂  TT#

W^ I

(B) ctii^stiH ^l-iiir^ld ̂  I

(C) 3i^hh (ri'iiy, % ̂̂=t) % ^ rf^FTT

t I

(D) ■

13. "STf^ S, P ̂  y Tjm ̂ J2H^ ^

^-TTT ̂^2R 3TR^ ̂  ̂ ̂  t ?

(A) ?nfts,pf

(B) li^S,Pf

(C) lJ^S,P^t

CD) ^ ̂ ̂  ̂

(A) % %Ti Pidild^ ̂

(B) ^ ^

(C) (A) 3^ (B) ̂

(D)

14. 3Tm^ ̂FTm t f% ■m-'^ ̂  I 3frc
MI<5^St)H ^ ^FT^ f, rit 3TTF W
^ ?

(A) ^ ̂cTT^ ■% "SRF MIci^JsbM ^

%t

1

(B) Cj^<i i<^cri

(C) ^ ^

(D) ^Pn^m ^ ̂  ̂  ̂  3FTRT ^
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11. If the number of accidents occurring in the

middle of the road is much more than the

accidents occurring on the side of the

road, then

(A) Make ' the citizens aware .and

construct speed breakers

(B) Organize celebrity events

(C) Infer that walking in the middle of

the road is safer

(D) None of the above

13. If 'No S is P' is a false statement, then

which of these statements • is necessarily

true ? . '

(A) All Sis?

(B) Some S is P

(C) Some S is not P

(D) None of the above

12. Postponement of an event is an

•  administrative way of

(A) Taking time for better preparation

(B) Teaching a lesson to the populace

(C) Both (A) and (B)

(D) None of the above

14. If you find'that the question paper is too

difficult and seems to be out of the

syllabus, what will you do first ?

(A) Tell the examiner that questions are

out of course

(B) Copy from others

(0) Walk out of the examination hall

(D) Try to solve the questions as much as

possible

2RSP3/II/2023 (7-A)
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15. The next number in this series will be

71, 73, 79, 83, 89, _?_

.(A) 96

(B) 97

(C) 98"

(D) 99

16. If a shop gives 30% discount and then

provides another 20% discount, then the

• total discount will be

(A) 50%

(B) 42%

(C) 44% .

(D) 56%

17. If the distance between city P and city Q

is X km. and the distance between city Q

and city R is.y km, then the .distance

between city P and city R is .

(A) - X + y

(B) greater than x + y

(C) less than or equal to X + y

(D) None of the above

18. If 24^ July, 1979 is a Tuesday, then

which of the following days is a Tuesday ?

(A) 21®* July, 1980

(B) ,'22^^ July, 1980

(C) 23^^ July, 1980

(D) 24*^ July, 1980

19. If two cows are tied to a common pole and

the'length of the ropes are P and Q, where

P is greater than Q, then the total area

grazed by both the cows will be .

(A) 7lP2

(B) 7iQ2

(C) 7rP2+7cQ2

(D) 7tP2 - 7cQ2

20. Decision-making is a

(A)' Cognitive

(B) Superficial

(0) Random

(D) None of the above

process.

2RSP3/n/2023 (9-A)



21. 3^^ tht f ̂ t ^

^HH fq^ciai 1?^ f I ^
I

(A)

(B)" TTT^

(C) ̂ TFTR

(D)

22. ^ 1^ nm ̂  34687 ̂  43778

^1^1 t, cfr 47592 ̂  3^ft wi^fdch ^

M=ti.K Ri<ai ^m.j|i ?

(A) 56683

(B) 55683

(C) 55738 ■ ■ . '

(D) 56873

23. ̂  'gW ̂  'nfioii'^ ^ ̂crl-^^r
^51 'eisctii' ̂  ^
'hncic' ̂  ̂ 3^ 'HWeld' ̂  ^

^iiWr ?

(A)

(B) cTf#

CO ̂

(D)

24. f^Mf^fian % smm ̂  ̂  ^

g^^TSR : :: 3TO^ ̂  : ?

(A) .

(B)

(C) 3^cft?r

(D) L|5JdHI

25,

26.

27.

^ 30 ̂ ^=((1, 2023 ̂  sn, ̂  2 iTT^;

2023 ̂  ■% sn ?

(A) <f^ciK

(B)

(C) 3^

(D) WRH

59 fqyiRiVi^^ ^ ^ f I
3TcT ^ -^STH ̂ ?

(A) 17

CB) 18

(C) 42

(D) 43

•%

^ arife ̂  'TO ^ "f^ ^
^ ̂ciTtih "SjfM^f^ TOT t;

j

(A)

(B)

©
o o
o

(C) (O o
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21. Few names are given that -share a

common feature, except one. Choose the

odd one out.

(A) Iceland ,

(B). Malta

(C) Japan

(D) Belarus

22. ■ If in a code language, 34687 is written as

43778, how will 47592 be written in that

code language ?

(A) 56683

(B). 55683

(C) 55738

(D) 56873

23. If 'man' is called Svoman', Svoman' is

called /boy, 'boy' is called 'girl', 'girl' is

called 'pilot' and 'pilot' is called 'child',

then who will fly the aeroplane ?

•  (A) Pilot

CB) Girl

(C) Child

(D) Man

24. On the basis of the following analogy,

choose the correct option.

Prediction : Future : : Guilt: ?

(A) Present

(B) Misdeed

(C) Past

(D) Repent

25. If 80^^ January, 2023 was Monday, then

what was the day on 2"^ March, 2023 ?

(A) Sunday
}

(B) Thursday

(C) Wednesday

CD) Tuesday .

26. Manoj ranks seventeenth in a -class of

59 students. What is his rank from the

last ?

(A) 17 ^

(B) 18

(C) 42

~  (D) 43

27. Choose the diagram that best represents

the relationship among the given-classes :

Engineers, Accountants, Professionals

(A)■ ©

(B)

(C)

(D)

o o

o

2RSP3/II/2023 (11-A)



28. ^ ̂ ^ "Educational

^ % 3T^ ̂  Tjfi' ^

^T^t ?

(A) LION

(B) NATIONAL

(C) DEAN

(D) NEAT

29. ^ 3TR 1 ̂  100 ̂  ̂ f,

(A) 20

(B) 21

(C) 22

(D) 19

30. ^ "v3j441" ^ t, ̂  ̂

^  ̂ t I

(A)

(B) 5PTH

(C)

(D) ttWw

31. ̂  "q^ ^ ̂  ^ 37A

.  ̂mr ̂  t ?

(A) 3<RfhmT

(B)

(C)

(D) iJllORcb 3TKm

32. ^TT^TTcTO TO t ?

(A) ̂ 22t

(B)

(C)

(D) 3iih^-^h^ qq qidfriiH

!
33. "?T^ ̂  rn?q?J 3Tsf % ̂hh<u| ^

t 1" ̂  qftTTO -fro^ ̂  ?

(A) 0[«l'-<rl

i
(B) ̂ 5^

(C) ̂

(D)

2RSP3/II/2023 (12-A)
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28. Which one of the following words cannot

be formed by\ising the letters of the word

"Educational" ?

(A) LION

(B) NATIONAL

(C) DEAN

(D) NEAT

29. If you write down all the numbers from

1 to 100, then how many times do you

write 7 ?

(A) 20

(B) 21 ,

'  (C) 22

' (D) ■ 19 ■

30. "Berlin" is related to "Germany" in the

same way as "Jakarta" is related to

.  (A) UK

(B) France

(C) Indonesia

(D) Malaysia

31. From the options listed below, identify the

barrier in communication.

(A) Disinterest

(B) Clear message

(C) Lack of confusion

(D) Physical comfort

32. What does an interview imply ?

.  (A) Data analysis

(B) Observation ,

(C) Communication *

(D) Face-to-face conversation

33.. "Communication is the transference and

understanding of meaning." Who gave

this definition ?

(A) Bobbins.

(B) Stewart

(C) Taylor

.(D) McGregor

2RSP3/II/2023 (13-A>
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34.

35.

(A) wm\ WTO TOcH t I •

(B) ̂  ̂TOT t I

(C) ̂ TOcRTOT l^pw^ I I

(D) TOcfT t I
r' ' .

-■HT "f^TOtr
%  "I'?

(A) ^riro^TO
(B)

(C) ^litridi

(D)

36. ■f^THf^fer ^ ^ ^-^TT ^IMHIrH^
iflw ̂  3in 7^* t ?
(A) 3TTriT-WT^^TOT

(B)

(C)

(D)

37. WTO W t ?

(A) W^TT ^ ̂ TfTO W^n ^

WTO ^ wrr I

(B) ^ ^ % MKw^n,^ TO
^  =b<^ ^Hdl I

(C) ^ TT^ ^ ̂  TTcH^ ^ TO ^
y^l-Mdl WTT I

■  (D) 3^ ̂  -fetft ^ ̂
^TO^ TT^ vjlHcbiO 3ITO ^ ̂
^Hdl I

38. ^ ̂  fd=t)<rM ^ddf^d ^
^'t ?

■  (A) ^ '

(B) Riq-s^d

(C) iwrm

(D) 14

39. PiMf^Rad ^ wf-'sifen ^
3in t ?

(A) w^ "farter ^ wrf^

(B) 3r4TO

(C), -^w

(D) TOTO

40. I®h^ f^TO ^ WT t 43 ^TTO ^ 3RTli^^ rr4t
^ tt^ 3T4r^ t ?

(A) ^

(B)

(C)

(D) ^

2RSP3/II/2023 •(14-A)



34. Training in Brainstorming signifies

(A) Decrease in creative problem solving

• (B) Increase in intelligence

(C) Neutralising of creativity-

CD) Decrease in intelligence

35. From the options listed below, identify
which one is not a communication skill.

(A) Active listening

(B) Empathy •

(C). Complexity

(D) Open body language

36. Which one of the following is not a
component of Emotional Intelligence ?

(A) Self-awareness

(B) Self-motivation

(C) Conflict representation

(D) Social skills

37. What is Problem solving ?

(A) The ability to identify the problem,
cause of the problem, analyse
solutions and implement the best
solution.

(B) The ability to describe the
traditional knowledge of
communities accumulated over

several generations.

(C) The ability to help two parties to
resolve their differences.

(D) The ability to read books and
give/provide comprehensive and
detailed information about an issue.

38. Which of the following is not related with

Social Networking ?

(A) Threads

(B) ■ Linkedin

(C) Instagram

(D) eBay

39. Which one of the following options is not a

part of conflict process ?

(A) Potential opposition

incompatibility

(B) Intentions

(C) Motivation

(D) Behaviour

or

40. Which thinker said, "Non-verbal elements

are more important in communication" ?

(A) Bandura

(B)' Mehrabian

(C) Ellsworth

(D) Carl Jung

2RSP3/II/2023 (15-A)
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TmW.41-45 (3mRW-l

cHR iilldR^ M ̂

t i ^ <Tb-cilH, tRt, tt^ 3^ ̂  To %
^  cHT^ ̂  f I cjqr^ ^

d«b41^' ̂  ̂TFRT ̂  3n^?2T^ f f

■f^^nf^ ^ d^'Jlct) T^ <;t^siQi''t, '^it
cFTT^ % ^BfPiTt ^ ̂  f I ^ tr ̂  ̂TT%
rfsn ^ 3TRIH ^ ̂  I ^ ^

^  t I ^ ̂  s!tr ^ftA

^ 3^: %%I ^ ^ HRcjRJd
1^" ̂  1^ cfT ^ I ^-yfdyil^ ^
3rf^ t cRR % ^nftte # ^€itr
^lldR^ 1^3if ^ ^ yfdyifkl .(feedback)
% snvK MT 3^ Rldii-fl ^ % 51%
WT^^^kTT %^)fBrT ^ ̂ilTcft t I-

^rRtTtIT^ TTR^-5Tr5ii^f%)^ T^ SHIthP^
3i3«T^ t ferrf 3i%Tn ^ ^ wRi %j2tt
wr t I WHTriT^ odjcjgKi^Mch cRvft^ "gRr
% H^KIrHdi ^ 3T%to TR
■RTOTrq^ ^ 5r%W%ri 1^

wrt I

41. r™ % iJllOR^b Ra^f % 51% vd|JH?^^idl Ri^Rld
^jRTT =t>5"?nai ^ ?

(A) RHR-5R5l^f%R^

(B) 3T%tjit

(C) ^-5[%5rT%I

(D)

42. 3n?iT%M 3g«ra- %r% ^ 3^%% | L

(A)

(B) o^Rhdd 313RR

(C) ^

' (D) RTO-5R^^f%RtJT

43. Tt^ WTR %nE% 3T%^ %^ ^

%^ ̂  5rfferT%cT %RIT ^sndT t, ̂  f

(A) «2TH

(B) o^ci^KirH4. d^-fl^

.  (C) RRR-5R^^f%Rq

(D)

44. RR ^ ̂TT% 5RR % %TR rRiR%)

5%% %RrT ^jflrn' ?

(A) %^

.  (C)

(D) RT^

45. %R%fteT % %R{ d^41=b ^ s?TR ^ JR:
%i^d %j^ "t ?

(A) %^

(B) «aTR

(C) o^Rhrd nRci^fd

(D)

2RSP3/II/2023 (16-A)



sis
Questions No, 41 - 45 (Btised on Passage-1)

Passage-1

Stress plays a significaiit role in

physical diseases. Hypertension, heart

disease, diabetes and even cancer are •

linked to high level of stress. Therefore,

knowing techniques to manage stress is

very essential.

Relaxation technique is an

important skill that reduces symptoms of

stress. It calms the mind and relaxes the

body. Deep breathing is used in this

technique. The yogic method of meditation

consists of a sequence of learned

techniques for refocussing of attention that

brings about an altered state of

consciousness. The biofeedback is a

procedure to develop awareness to monitor

and reduce the physiological aspects of

stress by providing feedback about current

physiological activity.

Creative visualization is a subjective

experience that uses imagery and

imagination. Cognitive • behavioural

techniques are meant to replace negative

and irrational thoughts with positive and

rational ones.

41. Developing an awareness for the

physiological responses is known as

(A) Visualization

(B) Learning

(C) Biofeedback

(D) None of the above

42. Subjective experience that uses imagery is

(A) Cognition

(B) Personal e:^erience

(C) Emotion

(D) Creative visualization

43. The approach to replace irrational

thoughts with rational ones is called

(A) Meditation

(B) . Cognitive behavioural technique -

(C) Creative visualization

(D) All of the above

44. Which technique is used .to calm the

mind ?

(A) Relaxation technique

(B) Biofeedback

(C) Meditation

(D) Courage

45. Refocussing of attention could be done by

which of the following techniques ?

(A) Relaxation

(B) Meditation

(C) Change in personality

(D) All of the above
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^777 ?r. 46 - 50 (3rmrm-2 m snmM)

3?^WT-2

%

M ̂nlfdijT, cm

^  ̂ Weft f 1 ^ CRM ̂  ̂  ̂

-  ̂ ^ 33ft^ ̂  ̂3ftf^ K?ft ̂

I I CRM ̂ 3Mf TRR ̂  f,

TITO TO-'FMtSR ^ ̂  ̂ f -m Pi^KH ̂

I 3M CRM 313ftfcf^ TMM 3TO ̂

^MMT t ̂ftr ^ ^ ̂MRT f I

I^mOcI, 'sigcl CRM % cfTTO

1^-^ ̂  a#T^Tm ̂  ag^M ̂  ̂MMT f,

i^RT% ^ ?M Tif^.^ ̂

R-^Hiqn ̂  TTift f I ^ TO t

^Tc^ cRM 'JSm ̂  I CRM ̂  ̂ ̂ ̂

% fro ̂ n^TO t 3TO^ pt^HKH "^cR ̂

aHdf^ % "feTT o!Tf^ % 3'jff % TT^ f,

^ ̂Rct TOft % "fro; to ̂  1^

MM "I I cMrf^, % o^MT (distress) ^

nRcif^ici ^ ^ T?dt "I I MM ̂

TO TOft'aTf^M5rf%T ̂  ^ ^

I

46. ^ ̂ M MM aiJRR MM t ■

(A)^ :3M -STk

(B) ^ 3Tk

(C) iTO^mM^ark

(D) ^

47. MM, PlHfdf^d ̂  ̂ fTO% ̂  WtT ^
t ?

(A) ■ ^nlld-Mt

(B) WTO

(C)

(D) wr!

48. ̂ 1

(A) Mft-Mft 3M^

(B)

(C) ar^

(P)

49. PiMf^Raci ^ ̂  MM? wt ̂itk ^

^jfH-^fM MM t ?

(A) ̂

(B) ̂ 2MT (distress)

(C) MTTO^mM

(D) MR o3isn ̂

50. sftM MM MMI M MM f

(A) "fw a#f^iM MT

(B) 3M arf^RMTT MT

(C) arM^TR^^iTO:^
1

(D) arf^T^uTT TR1^ ^ ̂ ̂ 3JTO
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Questions No. 46 - 50 (Based on P<issage-'2)

Passage-2
s

All the challenges, problems and

difficult circumstances put us to stress.

Thus, if handled properly, stress increases

the. probability of one's survival. Stress-

gives energy, increases, human arousal

and affects performance. High stress can

produce unpleasant effects and cause our

performance to deteriorate. Conversely,

too little stress may cause one to feel low

on motivation, which may lead us to

perform slowly and less efficiently. It is

important to remember that not all stress

'  is inherently bad./Eustress' is the term'

used to describe the level of stress that is

good and is one of a person's best assets

for achieving peak performance. Eustress,

however, has the potential of turning into

'distress'. It is this latter manifestation of
j

stress that causes our body's wear and

tear.

46. Too high level of stress leads to

(A) High performance

(B) Low performance

(C) Pleasant effect

(D) All of the above

47. Stress is not generated by which one of

the following ?

(A) Challenges

(B) Problems

(C) Difficult circumstances

(D) Resources

48. Eustress is

(A) Sometimes good

(B) Bad

(C) ' Always good

(D) None of the above

49. Which of the following causes wear and

tear in our body ?

(A) , Eustress

(B) Distress

(C) Normal Effect

(D) Both - Distress and Eustress

50. Little stress may cause

(A) Low motivation

(B) High motivation

(C) No effect on motivation

(D). Both high and low effect on
motivation
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51. ^ ̂  3T2f ^ '-' ̂  'x'

aTkV^3TsI V#cTt

12+ 6 + 3- 2x8 = ?

«,3

(B) 9-

(C) 9 4-
4

(D) 9-

52.- iHHfdf^d ̂  ̂ 3T1^ %if, 3^R:

(A)

(B) O

(C) O

(D)

53. I B, A^^tsfk A,X^

Tff t I B ̂  Y ̂ ̂  t ?

(A) W^\

(B) tttcTT

(C)

(D) to

54. to "FiTO t tof ^

■  -gro 'toW tô  totol ?

(A)

(B) w

(C) 3TW1^ .

(D)

55.. torif^ I

(A)

(B)

(C) to:

(D)
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51. If'+' means '-i-' means means 'x'

and 'x' means '+' then

12+ 6 + 3- 2x8 = ?

(A) 8A

(B) 9-

(C) 9 A
4

(D) -91

52. Which of the following figures shows the

relationship between tables, chairs • and

furniture ? •

(A)

(B) o

53. X and Y are two brothers. B is the brother

.  of A and A is the mother of X. How is B

related to Y ?

(A) Maternal uncle

(B) Mother

(C) Brother

(D) Father

54. Just as 'Court' is related to 'Justice', in the

same way 'School' is related to which of

the following ?

(A) Class

(B) Student , .

(C)". Teacher

(D) Education

(C) O

(D)

55. Select the odd one out fi-om the options

given below.

(A) Aeroplane

(B) Bird

(C) Tanker

(D) Aerial lombrella
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Bis
56. tttt ^ ̂ ^

I  .

WT : :^

(A) ̂

(B)

(C) ̂

,  CD) ̂

57. ^ 3T^ ̂

ABC, GHI, MNO, _?_

(A) RST

(B) STU

(C) PQR

(D) QRS

/  . \

58. % dWt ̂sb-^K ̂  16 cfT^te

3dt HJi^n=iK ̂  aid^a

frdt ? '
t

(A) 25

(B) 26 ■ ' "

(C) 27

(D) 28.

59.

12, 21, 23, 32, 34, ?

(A). 43

(B) 37

(C) 36

(D) 42

60. RW

(A) 8

(B) 24

(C) 30

(D) 32
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56. Choose the word with related similarity

from the given options.

Room : Floor :: River : ?

(A) Bottom ■

(B) Fish

,(C) Whale

■(D) Water

57. Choose the missing letters of the series

ABC, GHI, MNO, J_

(A) RST

(B) STU

(C) PQR

(D) QRS

58. If 16^^ is on the third Friday of a month,
then which date will fall on the fourth

Tuesday of the same month ?

(A) 25 -

(B) 26 ■

(C) 27

(D) 28

59. Find the missing, number

12, 21, 23, 32, 34, ?

(A) 43

(B) 37

(C) 36

(D) 42

60. Find the missing UTomber

(A) 8

(B) 24

(C) 30

(D) 32
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61.. ^ ̂ ^ wfe;

(A)
(

(B) fH$F< — $1<H1

(C)

(D) cT^-cTMR

62. ^ ;

(A)

(B)

(C) 3m-1T^

(D) 3rar-^

63. '>S'-41^rn* ̂ i®<^ ^ :

(A)

(B) fro

(C)

(D) 1^

64. ^ t :

(A) 3Fft^

(B) 3rf^

(C) ̂

.(D) # .

65. PlMfdRdd ^ ̂  ̂  wfer :

(A) ̂  — ̂TR

(B)

(C) ̂  ̂

(D)

66. f ?

(A) 1^RT% 3T^ ^

(B) "Q^ ^ 31^ 3Tsf

■(C) TT^ 37^,-^

(D)

67. '3n^'^q^rf3RHt-^ :-

<A) T?TRT

(B) 1%^ '
(C) 3CT1W

(D) dW^I

68. ^ ^7?9"' t :

(A)

(B) 3TRT

(C) ^

(D)

69. 'sT^^cTTFrfl;

(A) ^ f[ 1
(B) ^ WT ̂  I

(C) ^ ̂  H ̂  I
(D) ^ ̂  ̂  ̂  ̂  I

70. ^ mr ̂  ^ ̂  ̂  ^ ̂
• ̂  <^5criidi t ?

(A) iR^TTriR; in%5f

"  (B) ' 3n#£RT

(C) 3ggT^

(D) MI6ldl-dd
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71. ^ ̂  t ?

(A)

(B)

,(C)

(D)

72. ^*#TT :

(A) ̂

■(B) ain

-  (C)

(D) i^ ^ ■
s

73. ^ :

(A) 51T, ̂  3^ ̂ I

(B) cTT^ ̂  ̂-■^TT TfTf^ t I

(C) ^ TOT I

(D) l^T, "t 1

74.

(A)

(B) TO -3TT^

.  (C) "5OT-'&H

■ (D)

75. ^ a;T^^F^Tfe ^ #tt

(A) ^

(B) aro

(C)

(D)

76. '%' ̂  ̂  q^kc^i-cH w^' f :
(A)

(B)

(C) W

(D) ^

77. ^ ^ ̂  ^ ̂

(A)

(B)

(C). ai«^

(D) aqq^

78.

(A)

(B) wt^-TTiRm

(C) aq^ -"giRT

(D) 3|j<Rh — 31^<MI

79. ^ ̂  ^ :

(A)

(B) aq^UTj

(C) ■ aq^ ■

(D) arqro

80. qqkdi-^l I;

(A) ^

(B) TT%

(C) ^

(D) ^
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(^3777 msm 81 ̂  85) : % ̂ mm ̂ 37Tm

■wfmif^ff^mif ̂ <0f^^ /

^ram-i

3^^ cft^-Tnf^r^ ^ 'a|^<d ^ "fcpyicrl^
% 3T?2nW ^ «hTc^vj| % % ̂ TRT ^i^^TrT,
1^ TR^ ch4-^l{l % TO ^ j^WTcT ^ 3T^ft^

^  ̂ -^m 3T1^ ^ ItoR % TO
,  I ^ wil^ril ^ t ̂ETO ^

feTR % TO ^ tIct! Tf TOT ^ ̂1# ^mrft
% HKi I ^ T^cTT "I mti(i cTT^ ciidl ^fdgiRd-
% ̂ 1% ^T "TT F^< K^cTT q<D<^ cjicfl ^[®qi
% TO I FT%5T I s^i % TO'^
1^ T?^ t 3^^ % I ^ ^
TTOR ^ ̂  t, ̂  ̂  ^ ̂ITOR ^
^  I ^TT2-"<=iK"l 3^ ^<1^ cil*=t)-^il5oH %
WT f I ̂  ̂  TfT ^ T?HT t Wpjft ■# 3Tf^

% TO, ̂  t T^T^ ^
^ I ^-"HTflc^ # TOft -^ ^
'iM ^TOT ^ TO "teR TOTT
^T%R I •

81. "RTRt % fro 3R "TT ^TTf|r2T "^TO TOP t ?

(A)

(B)

(C) ^ ̂

(D)

82.

83.

84.

tnlqi-tiif^rq % ?n?TT

(A) fenTO%

(B) %

(C) TR^t^ di^-ctiO

(D) TO-TO?JT 3^ 50^

^ tot t ?

(A) 'TO ^ fen^ % TO

(B) [q^Jid-M % 3PSTTTO % TO

(C) 3R^teT ^ tot feiR % TO

(D) ^4-mi(1 % TO

vh^-'tTTflr^ # ^ m ̂  TOT #n ?

(A) RdMd

(B) TO

(C) i^^^i^^TTTO
i

(D) TO

85. di^TOt ?

(A) #^TOr

(B)

(C) <rildi dic^

(D) ^TftcT
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^fwrr 86 ??■ 90): ^ ^ 3jrm

^ iHHfdl^d wff ̂  ̂  /

"TraT7T-2

^Micridi % ^ % di<^ ^ ^

I  # ^H4)ddl ^ T^ t I

di^cOi ^ WT t 1 ^

^mr f^-dldd 1 %Tf^

STrfcP^iKt % "'ft^ ^curl ^ I "^I^T 1^

^  ̂ t

% T?T TT^-TJ^T % ^

^Rcft t I ^3?K ^ sik ^ ^

^ kRdt t, 3=T; ^ 3n^ t I

86. ^ ̂  ̂  W f ?

(A)

(B) -1^

(C)

(D) 37f^^

87. k TTTicRTT ^kT % iMcrlcfl t ?

(A)

(B) «iRic;m

(C) ^

. (D) ■di*rH'=Q

88. wkr ̂  #n :

"(A)

(B)

■(C)- c^ «|Ri<H

(D) : ̂ Hxncii ^ 3>41

89. 1^ "dT? ^-MK ^iTcft t ?

(A) rfl^

(B) % TH ̂

(C) ^ k ̂

(D)

90. <al-dl % ktd ^ ?

(A) W9^

(B)

(C) ^

(D)
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{sw 91 ̂  95): ̂  wi mm mm

w Pnldl^d ymff ̂  3m 0^ /

^i^ivi-3

arater ctsit f i

3TF3r WPFT ^ 'TTH^ ci^n

'^3TTcr "^t, '3?T. Hldd^ 3TR^

^3?TK ^ m W 3RT 3ITcfk ^3Tt 3\^ ;3m

^m?fk mrsff ̂  ™

^ fê RT 137T an I ^ ̂ 3m fcjmi[^ch

^  33RT ̂  t ■% M^^ltrfln mm

^ ̂  ^ mr m: "Mmr

nan Bmf nr^ nn ter nm ^

fen ? % mm nffe % nft^sfn ^ n?

'mm 3?fe n^wjof ^incn t i sfet tcrt ̂

^rmfe % 3nnn nffer ^ fesn ■%

v^ ^ 3J^%mTtnann^^% m[% fer,

3?ti^< 3fe mn^ % 315m t| ̂  1 n^ n^mr
^ m 3Taf I — ttt^i^ ̂ STT I

91. % mm ninnj ̂  1m# aft

(A)

(B) #n:m

(C) mninm

(D) ^ ̂ nf

92. arafer. ^ ̂ann nnff ̂

(A) 1000

.(B) 1500

(C) 200

(D) 500 ^

93. n# ̂  ?

(A) Hlich^K

(B) Ifenm

(C) nm^a^mftnfe:

(D) ^mfen

94. ?fefe nn mm f

(A) 3rHtn mTef

(B) "n^-^id

(C) ^tfennr

(D) ■ n^RT

95. amfen xmm % mmj f

(A)

(B) ^mjfe

(C) n?i^

(D) nm^
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§p
slS

(sr^wsmoe ̂ 100):

W Rnf^f^d JR^ # 3r7r /

W?T-4

1857 % ^ ^N^dl sft,

% 3^ 3dit ̂  «(4<cll % "HTSI 3>'^Ql [^-41 SfT 1

3^ ^ ̂  ̂ ^ ^ 3N^-3Tq^

P|6ch^ R'^icn^ % ^ ^ I 3T^?ft

% ̂  13^ Idd^ldl SIT ^ ^ WSr^ite

3:^ TI^^teT ̂  TO3T 3Rlvf^ WT^ %

^dcKHldi "?t^; 37R: 3^ TCFR ̂

RTOT I RKcM'^I^W

% qRuiml ̂  -21^ -jTM fen sn % sfefi ̂

RKn ̂  ^ % fe W ̂ nsifqT f,

^n^ ̂  ^ I fci^Mi 3^ 41 ^ RRcfln

3^ TT^ TO3T3Tt t ̂R^Rd ̂  % fe sfet Rmi

R Rffe ^

96. few' ̂3^1

(A) ■ 3{feni ̂

(B) 3Tfeni ̂

(C) fer

(D) ̂ fe'

97. rtrM R fê  R w ?

(A) 3fefr R nRj R ̂  ̂ t 1

(B) afef R ̂sRtfR R ̂  ̂ t I

(C) sfeft R ̂  ̂ 3Ti^;?3WT nf t I

-  (D) afer R fe W % ̂ai
-^^(1 "i 1

98. TOnrarr % fejw fe rrM fe ̂

^RnifeRtj; ?

(A) afeif % #: nR% arnfe feRrr 1

(B) afeft RM TRR-TRTR ̂ RRT "^nfe I

(C) 3fet RTRT R i^m fef "^rfe; 1

(D) ̂ iIRhh ̂  ferra fejn ̂ sTHT 1

99. i857%fe^R 3fefrR wfen^Rfe^n ?

(A) ^nfeR fe anfet R ^ t I

(B) rrM R ̂  nff ^ t I

(C) RifeR ̂  T3^ 3Rt Ti^^fer afet %
fê  TIcRI t 1

(D) wRhft % Ife RtR> ̂ ii'W 'fi^'O "t I

100. afeR % ife TgcRnRF sR ,

(A) tt^ alR Tj^ TO3T

'  (B) ^ HT^

CO, ^ nranr

(D) <^^di ̂  m^nT
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SPACE FOR ROUGH WORK
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0JP

cft-oci cftiH

SPACE FOR ROUGH WORK
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op

SPACE FOR ROUGH WORK
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